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20.000] 20.000| 10.000, 10.000
X Y
IP 1P1 300.000| 150.000
BP Nel 100.000| 100.000, 14-02-10
EP No6+5.123 201.984| 125.496
X Y
BP Nel 0.000| 100.000| 100.000| 14-02-10
BPR10 NelR10 10.000 97.575| 109.701
BPL10 Nell10 -10.000 102.425 90.299
BPNge2 Ne?2 20.000| 119.403| 104.851| 14-02-10
BPNe2R10 Ne2R10 10.000 116.977| 114.552
BPNe2.10 Ne2L.10 -10.000 121.828 95.149
BPNe3 Ne3 40.000| 138.806| 109.701| 14-02-10
BPNe3R10 Ne3R10 10.000 136.380| 119.403
BPNe3L10 Ne3L10 -10.000 141.231| 100.000
3+1 No3+1 41.000| 139.776, 109.944| 14-02-10
3+1R10 No3+1R10 10.000 137.350] 119.645
3+1L10 No3+1L10 -10.000 142.201| 100.243
BPNe4 No4 60.000| 158.209| 114.552| 14-02-10
BPNe4R10 Ne4R10 10.000 155.783| 124.254
BPNe4L10 Ne4L10 -10.000 160.634| 104.851
BPNe5 Neb 80.000| 177.611| 119.403, 14-02-10
BPNe5R10 Ne5R10 10.000 175.186| 129.104
BPNe5L10 Ne5L10 -10.000 180.037| 109.701
BPNo6 No6 100.000| 197.014| 124.254| 14-02-10
BPNo6R10 No6R10 10.000 194.589| 133.955
BPNo6L10 No6L10 -10.000 199.440| 114.552
EP No6+5.123 105.123| 201.984| 125.496| 14-02-10
EPR10 Ne6+5.123R10 10.000 199.559| 135.197
EPL10 Ne6+5.123L10 -10.000 204.410| 115.795




